
Q.1 Who among the following novelists has written ‘A Suitable Boy’?
Ans 1. Aravind Adiga

2. Vikram Seth

3. Arundhati Roy

4. Chetan Bhagat

Question ID : 26433086910
Option 1 ID : 264330341282
Option 2 ID : 264330341284
Option 3 ID : 264330341281
Option 4 ID : 264330341283

Status : Answered
Chosen Option : 2

Q.2 Minati Mishra was conferred the Padma Shree for her contribution to which form of
dance?

Ans 1. Chhau

2. Sattriya

3. Bihu

4. Odissi

Question ID : 26433074882
Option 1 ID : 264330293617
Option 2 ID : 264330293616
Option 3 ID : 264330293619
Option 4 ID : 264330293618

Status : Answered
Chosen Option : 3

Q.3 The Lakshmana temple of Khajuraho, dedicated to Lord Vishnu, is an example of
which style of temple architecture?

Ans 1. Vesara

2. Nagara

3. Dravidian

4. Odisha

Question ID : 264330111854
Option 1 ID : 264330439501
Option 2 ID : 264330439503
Option 3 ID : 264330439502
Option 4 ID : 264330439504

Status : Answered
Chosen Option : 1
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Q.4 Consider the following methods adopted by the government to protect goods
produced in India from imports.
(i) Heavy taxes were levied on imported goods
(ii) The maximum limit on the imports of a commodity by a domestic user was fixed
Choose the correct answer.

Ans 1. Both (i) and (ii) are true

2. Both (i) and (ii) are false

3. Only (ii) is true

4. Only (i) is true

Question ID : 264330116525
Option 1 ID : 264330458186
Option 2 ID : 264330458185
Option 3 ID : 264330458188
Option 4 ID : 264330458187

Status : Answered
Chosen Option : 1

Q.5 Which of the following is a popular festival celebrated in the state of Bihar?
Ans 1. Me-Dam-Me-Phi

2. Sama Chakeva

3. Harela

4. Ali-Ai-Ligang

Question ID : 264330110455
Option 1 ID : 264330434099
Option 2 ID : 264330434098
Option 3 ID : 264330434100
Option 4 ID : 264330434097

Status : Answered
Chosen Option : 2

Q.6 Which region of India is known for the unique Shola forests?
Ans 1. Eastern Himalayas

2. Western Ghats

3. Thar Desert

4. Deccan Plateau

Question ID : 264330176015
Option 1 ID : 264330690356
Option 2 ID : 264330690357
Option 3 ID : 264330690355
Option 4 ID : 264330690358

Status : Answered
Chosen Option : 4



Q.7 The Ghoomar dance of Rajasthan was originally performed by which tribal
community?

Ans 1. Kathodi

2. Mina

3. Bhil

4. Kanjar

Question ID : 264330141327
Option 1 ID : 264330553643
Option 2 ID : 264330553646
Option 3 ID : 264330553645
Option 4 ID : 264330553644

Status : Answered
Chosen Option : 3

Q.8 Who among the following was appointed as the first minister of the Ministry of
Disinvestment during the tenure of the Vajpayee Government?

Ans 1. Yashwant Sinha

2. Arun Shourie

3. George Fernandes

4. Jaswant Singh

Question ID : 26433059342
Option 1 ID : 264330232245
Option 2 ID : 264330232244
Option 3 ID : 264330232247
Option 4 ID : 264330232246

Status : Answered
Chosen Option : 2

Q.9 Which of the following states is related to Gatka, which was inducted into the 37th

National Games?
Ans 1. Punjab

2. Uttar Pradesh

3. Haryana

4. Uttarakhand

Question ID : 264330176923
Option 1 ID : 264330693887
Option 2 ID : 264330693889
Option 3 ID : 264330693888
Option 4 ID : 264330693890

Status : Answered
Chosen Option : 4



Q.10 Which of the following dances was traditionally performed by male monks in
monasteries?

Ans 1.  Sattriya

2.  Kathakali

3.  Kuchipudi

4. Odissi 

Question ID : 264330110404
Option 1 ID : 264330433894
Option 2 ID : 264330433896
Option 3 ID : 264330433895
Option 4 ID : 264330433893

Status : Answered
Chosen Option : 1

Q.11 Which of the following Articles of the Constitution of India mentions that Parliament by
law can form a new State by separation of territory from any state or by uniting any
territory to a part of any State?

Ans 1. Article 9

2. Article 5

3. Article 7

4. Article 3

Question ID : 264330110775
Option 1 ID : 264330435380
Option 2 ID : 264330435377
Option 3 ID : 264330435378
Option 4 ID : 264330435379

Status : Answered
Chosen Option : 4

Q.12 According to the census of India 2011, what was the literacy rate of Tamil Nadu?
Ans 1. 82.80%

2. 82.34%

3. 80.09%

4. 81.42%

Question ID : 264330119913
Option 1 ID : 264330469929
Option 2 ID : 264330469928
Option 3 ID : 264330469930
Option 4 ID : 264330469927

Status : Not Answered
Chosen Option : --



Q.13 Which of the following is NOT one of the several approaches of microfinance delivery
mechanisms in India?

Ans 1. Cheap subsidised credit

2. Self-help-group – bank linkage programme

3. Microfinance institutions- Credit Lending Models

4. Conventional weaker-section lending by banks

Question ID : 264330119670
Option 1 ID : 264330468955
Option 2 ID : 264330468958
Option 3 ID : 264330468957
Option 4 ID : 264330468956

Status : Answered
Chosen Option : 4

Q.14 Under which of the following Articles of the Constitution of India does the Governor of
Arunachal Pradesh have special responsibility with respect to law and order and in
discharge of his functions in relation thereto?

Ans 1. Article 371 D

2. Article 371 H

3. Article 371 A

4. Article 371 G

Question ID : 26433086856
Option 1 ID : 264330341067
Option 2 ID : 264330341065
Option 3 ID : 264330341068
Option 4 ID : 264330341066

Status : Answered
Chosen Option : 1

Q.15 Which of the following words is not part of Article 15 of the Indian Constitution as far
as grounds of discrimination are concerned?

Ans 1. Race

2. Profession

3. Caste

4. Religion

Question ID : 264330180043
Option 1 ID : 264330706156
Option 2 ID : 264330706158
Option 3 ID : 264330706157
Option 4 ID : 264330706155

Status : Answered
Chosen Option : 2



Q.16 Which National Waterway is associated with the Brahmaputra River?
Ans 1. National Waterway 1

2. National Waterway 3

3. National Waterway 2

4. National Waterway 5

Question ID : 264330180505
Option 1 ID : 264330707990
Option 2 ID : 264330707988
Option 3 ID : 264330707989
Option 4 ID : 264330707987

Status : Answered
Chosen Option : 3

Q.17 Which of the following channels is NOT a part of six communication mail channels to
facilitate quick delivery of mails in large towns and cities of India?

Ans 1. Periodical channel

2. Business channel

3. Weekly channel

4. Metro channel

Question ID : 264330180510
Option 1 ID : 264330708007
Option 2 ID : 264330708009
Option 3 ID : 264330708008
Option 4 ID : 264330708010

Status : Answered
Chosen Option : 2

Q.18 Which common long-term infection develops when bacteria in the mouth metabolise
sugars to produce acids that demineralise the hard tissues of teeth?

Ans 1. Dental caries

2. Cleft palate

3. Oro-dental trauma

4. Oral thrush

Question ID : 264330130985
Option 1 ID : 264330513051
Option 2 ID : 264330513052
Option 3 ID : 264330513053
Option 4 ID : 264330513054

Status : Not Answered
Chosen Option : --

Q.19 Dehing Patkai festival is the festival to celebrate the rich culture of which of the
following Indian states?

Ans 1. Nagaland 

2. Sikkim

3. Tripura

4. Assam

Question ID : 264330132417
Option 1 ID : 264330518763
Option 2 ID : 264330518766
Option 3 ID : 264330518765
Option 4 ID : 264330518764

Status : Answered
Chosen Option : 4



Q.20 The Sikhs under Guru Hargobind defeated the Mughals four times during the reign of
___________.

Ans 1. Aurangzeb

2. Jahangir

3. Akbar

4. Shah Jahan

Question ID : 264330114845
Option 1 ID : 264330451466
Option 2 ID : 264330451467
Option 3 ID : 264330451465
Option 4 ID : 264330451468

Status : Answered
Chosen Option : 4

Q.21 In which part of the Constitution of India is the procedure for amendments in the
Constitution laid down?

Ans 1. Part XV

2. Part XXI

3. Part XX

4. Part X

Question ID : 264330113367
Option 1 ID : 264330445554
Option 2 ID : 264330445555
Option 3 ID : 264330445556
Option 4 ID : 264330445553

Status : Answered
Chosen Option : 3

Q.22 What is the air temperature at tropopause over the equator?
Ans 1. −60°C

2. −50°C

3. −80°C

4. −70°C

Question ID : 264330120077
Option 1 ID : 264330470563
Option 2 ID : 264330470564
Option 3 ID : 264330470565
Option 4 ID : 264330470566

Status : Answered
Chosen Option : 1

Q.23 Who among the following is called the ‘Bhajan Samrat’ of India?
Ans 1. Anup Jalota

2. Dayanand Prajapati

3. Sanjeev Abhyankar

4. Vishnu Bharnagar

Question ID : 264330112680
Option 1 ID : 264330442806
Option 2 ID : 264330442807
Option 3 ID : 264330442805
Option 4 ID : 264330442808

Status : Answered
Chosen Option : 4



Q.24 In which of the following States was the 44th Chess Olympiad held?
Ans 1. Tamil Nadu

2. Andhra Pradesh

3. Kerala

4. Karnataka

Question ID : 264330113753
Option 1 ID : 264330447097
Option 2 ID : 264330447099
Option 3 ID : 264330447098
Option 4 ID : 264330447100

Status : Not Answered
Chosen Option : --

Q.25 Mame Khan, an Indian folk singer known for his Sufi and folk music performances, is
from the state of _________.

Ans 1. Rajasthan

2. Punjab

3. Assam

4. Gujarat

Question ID : 264330114169
Option 1 ID : 264330448763
Option 2 ID : 264330448762
Option 3 ID : 264330448764
Option 4 ID : 264330448761

Status : Answered
Chosen Option : 2

Q.26 Globalisation, by connecting countries, shall result in ________.
Ans 1. price enhancement by producers

2. no change in competition among producers

3. lesser competition among producers

4. greater competition among producers

Question ID : 26433082241
Option 1 ID : 264330322799
Option 2 ID : 264330322800
Option 3 ID : 264330322798
Option 4 ID : 264330322797

Status : Answered
Chosen Option : 4

Q.27 Which Article of the Indian Constitution mentions that it shall be the duty of every
citizen of India to have compassion for living creatures?

Ans 1. 51 A (h)

2. 51 A (g)

3. 51 A (j)

4. 51 A (i)

Question ID : 264330183149
Option 1 ID : 264330718329
Option 2 ID : 264330718328
Option 3 ID : 264330718331
Option 4 ID : 264330718330

Status : Answered
Chosen Option : 2



Q.28 Which of the following was one of the five states formed by breaking up the Bahmani
kingdom?

Ans 1. Karur

2. Golkonda

3. Hyderabad

4. Madras

Question ID : 264330182879
Option 1 ID : 264330717263
Option 2 ID : 264330717260
Option 3 ID : 264330717261
Option 4 ID : 264330717262

Status : Answered
Chosen Option : 2

Q.29 Which of the following topped the medals tally, winning 61 gold medals in the National
Games-2022?

Ans 1. Services Sports Control Board

2. Kerala

3. Haryana

4. Maharashtra

Question ID : 264330113732
Option 1 ID : 264330447013
Option 2 ID : 264330447016
Option 3 ID : 264330447014
Option 4 ID : 264330447015

Status : Answered
Chosen Option : 3

Q.30 What is the standard distance for males in a hurdle event?
Ans 1. 110 m and 410 m

2. 100 m and 400 m

3. 120 m and 410 m

4. 110 m and 400 m

Question ID : 264330110396
Option 1 ID : 264330433863
Option 2 ID : 264330433861
Option 3 ID : 264330433864
Option 4 ID : 264330433862

Status : Answered
Chosen Option : 2

Q.31 Which of the following is a book written by Jyotirao Phule in 1873?
Ans 1. Tribe Caste and Society

2. Last Among Equals 

3. Gulamgiri

4. Jati ka Vinash

Question ID : 264330119025
Option 1 ID : 264330466756
Option 2 ID : 264330466758
Option 3 ID : 264330466755
Option 4 ID : 264330466757

Status : Answered
Chosen Option : 3



Q.32 Becquerel, which is equal to one disintegration per second (dps) is represented by
which symbol?

Ans 1. Bq

2. Bl

3. Br

4. Bc

Question ID : 264330141661
Option 1 ID : 264330554963
Option 2 ID : 264330554965
Option 3 ID : 264330554966
Option 4 ID : 264330554964

Status : Answered
Chosen Option : 1

Q.33 To which genus does the nematode parasite called hookworm belong, which usually
spreads through infected soil?

Ans 1. Fasciola

2. Ancylostoma

3. Hirudinaria

4. Pheretima

Question ID : 264330141703
Option 1 ID : 264330555132
Option 2 ID : 264330555131
Option 3 ID : 264330555134
Option 4 ID : 264330555133

Status : Not Answered
Chosen Option : --

Q.34 Under which of the following Acts can supreme court initiate International Commercial
Arbitration?

Ans 1. International Arbitration Act, 2012

2. Arbitration and Cancelations Act, 2004

3. Arbitration and Conciliation Act, 1996

4. United Nations Act on justice, 2015

Question ID : 264330120175
Option 1 ID : 264330470957
Option 2 ID : 264330470956
Option 3 ID : 264330470955
Option 4 ID : 264330470958

Status : Answered
Chosen Option : 3

Q.35 Tax rates on higher income groups have been increased resulting in __________.
Ans 1. economic stability

2. reducing inequalities of income and wealth

3. economic growth

4. reducing regional disparities

Question ID : 264330116491
Option 1 ID : 264330458050
Option 2 ID : 264330458049
Option 3 ID : 264330458051
Option 4 ID : 264330458052

Status : Answered
Chosen Option : 3



Q.36 According to Census of India 2011, which of the following states has a population of
more than 10 crores?

Ans 1. Maharashtra

2. Rajasthan

3. West Bengal

4. Andhra Pradesh

Question ID : 264330120326
Option 1 ID : 264330471556
Option 2 ID : 264330471558
Option 3 ID : 264330471557
Option 4 ID : 264330471555

Status : Answered
Chosen Option : 1

Q.37 In the year 1904, who formed a secret organisation of revolutionaries named Abhinav
Bharat?

Ans 1. Lala Har Dayal

2. Subhash Chandra Bose

3. Ajit Singh

4. Vinayak Damodar Savarkar

Question ID : 264330114051
Option 1 ID : 264330448290
Option 2 ID : 264330448289
Option 3 ID : 264330448292
Option 4 ID : 264330448291

Status : Answered
Chosen Option : 4

Q.38 Since which year has the Census become a regular ten yearly exercise in India?
Ans 1. 1951 

2. 1881 

3. 1961 

4. 1851 

Question ID : 264330119006
Option 1 ID : 264330466679
Option 2 ID : 264330466681
Option 3 ID : 264330466682
Option 4 ID : 264330466680

Status : Answered
Chosen Option : 2

Q.39 ‘The Adventures of Huckleberry Finn’ was written by which of the following authors?
Ans 1. Mark Twain

2. Robert Louis Stevenson

3. Jane Austen

4. Jerome K Jerome

Question ID : 26433055371
Option 1 ID : 264330216471
Option 2 ID : 264330216468
Option 3 ID : 264330216469
Option 4 ID : 264330216470

Status : Answered
Chosen Option : 3



Q.40 Simuka was the founder of which of the following dynasties of the post Mauryan era?
Ans 1. Kushana

2. Parthians

3. Kanva

4. Satavahana

Question ID : 264330182700
Option 1 ID : 264330716572
Option 2 ID : 264330716571
Option 3 ID : 264330716573
Option 4 ID : 264330716574

Status : Answered
Chosen Option : 3

Q.41 Green Revolution is an example of:
Ans 1. how the service sector can bring about a revolution in India

2. how international trade ban can bring changes in the agriculture produce

3. how green GDP can be increased with the agricultural revolution

4. how technology can bring revolutionary changes in agricultural output

Question ID : 264330174151
Option 1 ID : 264330683043
Option 2 ID : 264330683046
Option 3 ID : 264330683044
Option 4 ID : 264330683045

Status : Answered
Chosen Option : 4

Q.42 The Red Fort was commissioned by which of these emperors?
Ans 1. Qutb-ud-din Bakhtiyar Khilji

2. Shah Jahan

3. Jahangir

4. Mohammad Bin Tughlaq

Question ID : 264330109319
Option 1 ID : 264330429556
Option 2 ID : 264330429555
Option 3 ID : 264330429553
Option 4 ID : 264330429554

Status : Answered
Chosen Option : 2

Q.43 Which of the following is involved in the movement of lava over or towards the surface
of the earth?

Ans 1. Weathering  

2.  Exogenic process

3.  Diastrophism

4. Volcanism  

Question ID : 264330116381
Option 1 ID : 264330457612
Option 2 ID : 264330457611
Option 3 ID : 264330457609
Option 4 ID : 264330457610

Status : Answered
Chosen Option : 4



Q.44 Which of the following schemes aims to provide generic medicines at reasonable
prices to the citizen of the country?

Ans 1. Pradhan Mantri Bharatiya Janaushadhi Pariyojana

2. Mission Indradhanush

3. Janani Shishu Suraksha Karyakaram

4. Universal Immunisation Programme

Question ID : 264330109414
Option 1 ID : 264330429935
Option 2 ID : 264330429936
Option 3 ID : 264330429933
Option 4 ID : 264330429934

Status : Answered
Chosen Option : 1

Q.45 Devadasi National Award is given at the dance festival held at the pilgrim centre in the
state of _________.

Ans 1. Kerala

2. West Bengal

3. Tamil Nadu

4. Odisha

Question ID : 26433071529
Option 1 ID : 264330280541
Option 2 ID : 264330280543
Option 3 ID : 264330280542
Option 4 ID : 264330280540

Status : Answered
Chosen Option : 3

Q.46 Who among the following emphasised and propagated that “the Vedanta is the religion
of all and not of the Hindus alone”?

Ans 1. Raja Ram Mohan Roy

2. Ishwar Chandra Vidyasagar

3. Swami Vivekanand

4. Swami Dayanand Saraswati

Question ID : 264330130573
Option 1 ID : 264330511404
Option 2 ID : 264330511403
Option 3 ID : 264330511406
Option 4 ID : 264330511405

Status : Answered
Chosen Option : 3

Q.47 What is the spread of living pteridophytes to narrow geographical regions?
Ans 1.  Limited and restricted

2.  Limited and unrestricted

3. Unlimited and restricted 

4. Unlimited and unrestricted 

Question ID : 264330113314
Option 1 ID : 264330445343
Option 2 ID : 264330445342
Option 3 ID : 264330445341
Option 4 ID : 264330445344

Status : Answered
Chosen Option : 1



Q.48 The Rigveda Samhita comprises of _____ books.
Ans 1. 13

2. 11

3. 7

4. 10

Question ID : 264330171659
Option 1 ID : 264330673242
Option 2 ID : 264330673241
Option 3 ID : 264330673239
Option 4 ID : 264330673240

Status : Answered
Chosen Option : 4

Q.49 Which of the following states had the least decadal growth in literacy rate, as per
census 2011?

Ans 1. Mizoram

2. Tripura

3. Kerala

4. Goa

Question ID : 26433092884
Option 1 ID : 264330364819
Option 2 ID : 264330364817
Option 3 ID : 264330364818
Option 4 ID : 264330364820

Status : Answered
Chosen Option : 1

Q.50 Who advises the Governor with respect to proroguing of the session of the State
Legislature?

Ans 1. Speaker

2. Chief Minister

3. Deputy Speaker

4. Senior Member of the House

Question ID : 264330173538
Option 1 ID : 264330680632
Option 2 ID : 264330680631
Option 3 ID : 264330680633
Option 4 ID : 264330680634

Status : Answered
Chosen Option : 1

Section : Reasoning



Q.1

Ans 1. 6

2. 11

3. 12

4. 8

Question ID : 26433085411
Option 1 ID : 264330335345
Option 2 ID : 264330335347
Option 3 ID : 264330335348
Option 4 ID : 264330335346

Status : Answered
Chosen Option : 2

Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080790
Option 1 ID : 264330317093
Option 2 ID : 264330317094
Option 3 ID : 264330317096
Option 4 ID : 264330317095

Status : Answered
Chosen Option : 4



Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 264330101078
Option 1 ID : 264330396860
Option 2 ID : 264330396859
Option 3 ID : 264330396858
Option 4 ID : 264330396857

Status : Answered
Chosen Option : 4

Q.4

Ans 1. 4

2. 2

3. 6

4. 5

Question ID : 264330110553
Option 1 ID : 264330434491
Option 2 ID : 264330434490
Option 3 ID : 264330434489
Option 4 ID : 264330434492

Status : Answered
Chosen Option : 4



Q.5 Select the correct mirror image of the given combination when the mirror is placed at
'XY' as shown below

Ans 1. 

2. 

3. 

4. 

Question ID : 264330129692
Option 1 ID : 264330508136
Option 2 ID : 264330508135
Option 3 ID : 264330508134
Option 4 ID : 264330508137

Status : Answered
Chosen Option : 3

Q.6 Two statements are given followed by two conclusions numbered I and II. Assuming
the statements to be true, even if they seem to be at variance from commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:
All Tears are Salts.
Some Tears are Crocodiles.
Conclusions:
I. All Crocodiles are Tears.
II. All Crocodiles are Salts.

Ans 1. Neither conclusion I nor II follows.

2. Only conclusion I follows.

3. Both conclusions I and II follow.

4. Only conclusion II follows.

Question ID : 26433076602
Option 1 ID : 264330300475
Option 2 ID : 264330300472
Option 3 ID : 264330300474
Option 4 ID : 264330300473

Status : Answered
Chosen Option : 1



Q.7 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 – Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed)
(2, 14, 3),(4, 28, 5)

Ans 1. (7, 37, 2) 

2. (7, 45, 2) 

3. (7, 22, 2) 

4. (7, 39, 2) 

Question ID : 26433097190
Option 1 ID : 264330381460
Option 2 ID : 264330381457
Option 3 ID : 264330381459
Option 4 ID : 264330381458

Status : Answered
Chosen Option : 3



Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080839
Option 1 ID : 264330317292
Option 2 ID : 264330317289
Option 3 ID : 264330317291
Option 4 ID : 264330317290

Status : Answered
Chosen Option : 3



Q.9 Select the figure from the options that can replace the question mark (?) and complete
the given pattern.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330106478
Option 1 ID : 264330418215
Option 2 ID : 264330418214
Option 3 ID : 264330418213
Option 4 ID : 264330418216

Status : Answered
Chosen Option : 1



Q.10

Ans 1. ÷ and ×

2. + and ÷

3. − and +

4. − and ×

Question ID : 264330101085
Option 1 ID : 264330396885
Option 2 ID : 264330396888
Option 3 ID : 264330396886
Option 4 ID : 264330396887

Status : Answered
Chosen Option : 1

Q.11 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
13 : 169 :: 9 : ? :: 21 : 441

Ans 1. 27

2. 729

3. 81

4. 243

Question ID : 264330101039
Option 1 ID : 264330396703
Option 2 ID : 264330396702
Option 3 ID : 264330396704
Option 4 ID : 264330396701

Status : Answered
Chosen Option : 3



Q.12

Ans

1. 

2. 

3. 

4. 

Question ID : 26433044935
Option 1 ID : 264330176178
Option 2 ID : 264330176175
Option 3 ID : 264330176176
Option 4 ID : 264330176177

Status : Answered
Chosen Option : 4



Q.13 Which figure should replace the question mark (?) if the series were to be continued?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330130809
Option 1 ID : 264330512350
Option 2 ID : 264330512349
Option 3 ID : 264330512348
Option 4 ID : 264330512347

Status : Answered
Chosen Option : 1

Q.14 P, Q, R, S and T are five friends sitting in a straight line facing North. P sits at the
extreme right end. T sits to the immediate left of S but is not at the extreme left end. R
is the immediate neighbour of P. Who sits at the extreme left end of the row?

Ans 1. P

2. S

3. Q

4. R

Question ID : 26433090115
Option 1 ID : 264330353937
Option 2 ID : 264330353940
Option 3 ID : 264330353939
Option 4 ID : 264330353938

Status : Answered
Chosen Option : 3



Q.15 In a certain code language, ‘BEAM’ is written as ‘BAFL’ and ‘HUGE’ is written as ‘FFIT’.
How will ‘ZERO’ be written in that language?

Ans 1. FSNY

2. DSNA

3. DNSA

4. FNSY

Question ID : 26433087177
Option 1 ID : 264330342346
Option 2 ID : 264330342347
Option 3 ID : 264330342348
Option 4 ID : 264330342345

Status : Answered
Chosen Option : 4

Q.16 Select the number from among the given options that can replace the question mark
(?) in the following series.
8.8, ?, 7.3, 6.7, 6.2, 5.8

Ans 1. 8.1

2. 8

3. 7.9

4. 8.2

Question ID : 264330111628
Option 1 ID : 264330438598
Option 2 ID : 264330438599
Option 3 ID : 264330438600
Option 4 ID : 264330438597

Status : Answered
Chosen Option : 2



Q.17 A square sheet of paper is folded along the dotted line successively along the
directions shown and is then punched in the last. How would the paper look when
unfolded?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330172419
Option 1 ID : 264330676227
Option 2 ID : 264330676229
Option 3 ID : 264330676228
Option 4 ID : 264330676230

Status : Answered
Chosen Option : 3



Q.18 Select the figure from the given options that will replace the question mark (?) in the
figure given below to complete the pattern so that the final image is symmetrical.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330114736
Option 1 ID : 264330451032
Option 2 ID : 264330451029
Option 3 ID : 264330451030
Option 4 ID : 264330451031

Status : Answered
Chosen Option : 3



Q.19 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330113649
Option 1 ID : 264330446683
Option 2 ID : 264330446682
Option 3 ID : 264330446681
Option 4 ID : 264330446684

Status : Answered
Chosen Option : 3

Q.20 Select the option that represents the letters that, when sequentially placed from left to
right in the blanks below, will complete the letter series.
A _ _ PS _ LNP _ A _ N _ S _ LNP _

Ans 1. LNASLPAS

2. LNASLPSA

3. NLASLPAS

4. LNASPLAS

Question ID : 26433090011
Option 1 ID : 264330353521
Option 2 ID : 264330353524
Option 3 ID : 264330353522
Option 4 ID : 264330353523

Status : Answered
Chosen Option : 1



Q.21

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080629
Option 1 ID : 264330316450
Option 2 ID : 264330316449
Option 3 ID : 264330316452
Option 4 ID : 264330316451

Status : Answered
Chosen Option : 4



Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 264330103849
Option 1 ID : 264330407700
Option 2 ID : 264330407698
Option 3 ID : 264330407699
Option 4 ID : 264330407697

Status : Answered
Chosen Option : 2



Q.23

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080786
Option 1 ID : 264330317077
Option 2 ID : 264330317080
Option 3 ID : 264330317078
Option 4 ID : 264330317079

Status : Answered
Chosen Option : 1

Q.24 Select the correct mirror image of the given combination when the mirror is placed at
'PQ' as shown below.

Ans 1. 

2. 

3. 

4. 

Question ID : 264330129817
Option 1 ID : 264330508500
Option 2 ID : 264330508501
Option 3 ID : 264330508499
Option 4 ID : 264330508502

Status : Answered
Chosen Option : 1



Q.25 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.
HUGE : IJWI :: BEAM : QDGC :: RIDE : ?

Ans 1. IGLS

2. IGKS

3. IHKR

4. IGKR

Question ID : 26433076454
Option 1 ID : 264330299883
Option 2 ID : 264330299882
Option 3 ID : 264330299881
Option 4 ID : 264330299880

Status : Answered
Chosen Option : 2

Q.1 A mobile phone is available for ₹39,300 cash payment, or for ₹7,450 cash down
payment and three equal yearly instalments. If the shopkeeper charges interest at the
rate of 20% per annum, compounded annually, what is the amount of instalment (in ₹)?

Ans 1. 16240

2. 15000

3. 14060

4. 15120

Question ID : 264330103986
Option 1 ID : 264330408248
Option 2 ID : 264330408246
Option 3 ID : 264330408245
Option 4 ID : 264330408247

Status : Answered
Chosen Option : 4

Q.2 On selling an item for ₹1,500, a shopkeeper loses 20%. For what amount should he sell
it to gain 10%?

Ans 1. ₹2,162.50 

2. ₹2,000 

3. ₹2,100 

4. ₹2,062.50 

Question ID : 264330109248
Option 1 ID : 264330429272
Option 2 ID : 264330429270
Option 3 ID : 264330429271
Option 4 ID : 264330429269

Status : Answered
Chosen Option : 4

Section : Numerical Ability



Q.3 If p and q are two prime numbers, then the average of p and q is:
Ans 1. p − q

2. (p + q)/2

3. p + q

4. (p − q)/2

Question ID : 264330119395
Option 1 ID : 264330467869
Option 2 ID : 264330467867
Option 3 ID : 264330467868
Option 4 ID : 264330467870

Status : Answered
Chosen Option : 2

Q.4 A sphere is 10 cm in diameter. Find the volume of the sphere in cubic metres?
Ans

1. 

2. 

3. 

4. 

Question ID : 264330118206
Option 1 ID : 264330464639
Option 2 ID : 264330464641
Option 3 ID : 264330464640
Option 4 ID : 264330464642

Status : Answered
Chosen Option : 3

Q.5 A dealer fixed the price of an article 24% above the cost of production. While selling it,
he allows a discount of 15%on the fixed price and makes a profit of ₹27. Find the cost
of production of the article.

Ans 1. ₹400

2. ₹700

3. ₹500

4. ₹600

Question ID : 264330119928
Option 1 ID : 264330469987
Option 2 ID : 264330469990
Option 3 ID : 264330469988
Option 4 ID : 264330469989

Status : Answered
Chosen Option : 3



Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 264330109354
Option 1 ID : 264330429695
Option 2 ID : 264330429696
Option 3 ID : 264330429693
Option 4 ID : 264330429694

Status : Answered
Chosen Option : 3

Q.7 The ratio of two numbers is 5∶7 and their difference is 48. The smaller of the two
numbers is:

Ans 1. 80

2. 100

3. 140

4. 120

Question ID : 264330111467
Option 1 ID : 264330437953
Option 2 ID : 264330437954
Option 3 ID : 264330437956
Option 4 ID : 264330437955

Status : Answered
Chosen Option : 4

Q.8 A can do a work in 30 days and B can do the same work in 40 days. They work
together for 8 days and then B leaves the work. In how many days will A finish the
remaining work?

Ans 1. 14

2. 17

3. 16

4. 15

Question ID : 264330103995
Option 1 ID : 264330408281
Option 2 ID : 264330408282
Option 3 ID : 264330408284
Option 4 ID : 264330408283

Status : Answered
Chosen Option : 3



Q.9 In how many ways can 480 be written as the product of two numbers which are
coprime to each other?

Ans 1. 2

2. 3

3. 1

4. 4

Question ID : 264330109329
Option 1 ID : 264330429594
Option 2 ID : 264330429595
Option 3 ID : 264330429593
Option 4 ID : 264330429596

Status : Answered
Chosen Option : 1

Q.10 In an election between two candidates, 80% of the voters cast their votes, out of which
5% of the votes were declared invalid. A candidate got 5,700 votes, which were 75% of
the total valid votes. Find the total number of voters enrolled in that election.

Ans 1. 9000

2. 10000

3. 9500

4. 12000

Question ID : 264330104423
Option 1 ID : 264330409996
Option 2 ID : 264330409994
Option 3 ID : 264330409995
Option 4 ID : 264330409993

Status : Answered
Chosen Option : 2

Q.11 A 220 m long train, travelling at a speed of 99 km/h, completely crosses another train
coming from the opposite direction at a speed of 81 km/h in 9 seconds. Find the length
of the second train (in metres).

Ans 1. 230

2. 220

3. 240

4. 225

Question ID : 264330122847
Option 1 ID : 264330481457
Option 2 ID : 264330481456
Option 3 ID : 264330481458
Option 4 ID : 264330481455

Status : Answered
Chosen Option : 1



Q.12 Rajneesh decided to invest in gold every month. He buys gold worth ₹65,000. He gets
a rebate of 8% on it. After getting the rebate, he pays tax at the rate of 10%. Next
month, he buys ₹70,000 with a rebate of 10% and tax 12%. What is the percentage
change in his investment from the first month to the second month?

Ans 1. Decrease; between 7 and 8 %

2. Decrease; between 5 and 6 %

3. Increase; between 7 and 8%

4. Increase; between 5 and 6%

Question ID : 264330103697
Option 1 ID : 264330407096
Option 2 ID : 264330407094
Option 3 ID : 264330407093
Option 4 ID : 264330407095

Status : Answered
Chosen Option : 3

Q.13 At what rate per cent per annum will a sum of money double itself on simple interest in
7 years?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330119952
Option 1 ID : 264330470083
Option 2 ID : 264330470085
Option 3 ID : 264330470086
Option 4 ID : 264330470084

Status : Answered
Chosen Option : 3

Q.14 Three numbers are in the ratio 4: 5: 6 and their LCM is 180. Their HCF is:
Ans 1. 3

2. 4

3. 5

4. 2

Question ID : 264330104150
Option 1 ID : 264330408902
Option 2 ID : 264330408903
Option 3 ID : 264330408904
Option 4 ID : 264330408901

Status : Answered
Chosen Option : 1



Q.15 The HCF of 204, 507 and 174 is:
Ans 1. 17

2. 2

3. 13

4. 3

Question ID : 264330106056
Option 1 ID : 264330416528
Option 2 ID : 264330416525
Option 3 ID : 264330416527
Option 4 ID : 264330416526

Status : Answered
Chosen Option : 4

Q.1 What is the primary purpose of an email client?
Ans 1. To create spreadsheets

2. To edit photos

3. To read and send emails

4. To play video games

Question ID : 264330180661
Option 1 ID : 264330708614
Option 2 ID : 264330708613
Option 3 ID : 264330708612
Option 4 ID : 264330708611

Status : Answered
Chosen Option : 3

Q.2 What is the purpose of the ‘Print Preview’ feature in Microsoft Word 365 ?
Ans 1. It allows you to insert images and graphics.

2. It allows you to edit text and formatting.

3. It provides suggestions for improving grammar and spelling.

4. It provides a preview of how the document will look when printed.

Question ID : 264330180723
Option 1 ID : 264330708861
Option 2 ID : 264330708859
Option 3 ID : 264330708862
Option 4 ID : 264330708860

Status : Answered
Chosen Option : 4

Section : Computer Proficiency



Q.3 In spreadsheet software, which formula can be used to find the largest value in a
range of cells?

Ans 1. SUM()

2. MIN()

3. MAX()

4. COUNT()

Question ID : 264330173319
Option 1 ID : 264330679757
Option 2 ID : 264330679756
Option 3 ID : 264330679755
Option 4 ID : 264330679758

Status : Answered
Chosen Option : 3

Q.4 In MS Word 365, which group within the Home tab contains the alignment options?
Ans 1. Font

2. Paragraph

3. Styles

4. Editing

Question ID : 264330180639
Option 1 ID : 264330708523
Option 2 ID : 264330708525
Option 3 ID : 264330708524
Option 4 ID : 264330708526

Status : Answered
Chosen Option : 2

Q.5 The ‘Sort & Filter’ group is available under which of the following tabs in MS Excel
365?

Ans 1. Data

2. View

3. Home

4. Insert

Question ID : 264330181070
Option 1 ID : 264330710225
Option 2 ID : 264330710226
Option 3 ID : 264330710223
Option 4 ID : 264330710224

Status : Answered
Chosen Option : 1

Q.6 Which of the following is a function in MS Excel 365 that returns the sum of the values
in a range of cells?

Ans 1. COUNT

2. AVERAGE

3. SUM

4. MAX

Question ID : 264330178562
Option 1 ID : 264330700276
Option 2 ID : 264330700277
Option 3 ID : 264330700275
Option 4 ID : 264330700278

Status : Answered
Chosen Option : 3



Q.7 In MS word 365 What do you mean by hamburger menu?
Ans 1. It prints the document in the file.

2. It deletes the document in the file.

3. It hides the traditional file menu.

4. It saves the document in the file.

Question ID : 264330171420
Option 1 ID : 264330672298
Option 2 ID : 264330672296
Option 3 ID : 264330672297
Option 4 ID : 264330672295

Status : Answered
Chosen Option : 3

Q.8 Which of the following is the purpose of the ‘Cell Padding’ property in a table in MS
Word?

Ans 1. It adds a border around each cell

2. It merges adjacent cells

3. It adjusts the spacing between cells and their content

4. It changes the font size within the cells

Question ID : 264330180836
Option 1 ID : 264330709308
Option 2 ID : 264330709310
Option 3 ID : 264330709307
Option 4 ID : 264330709309

Status : Answered
Chosen Option : 1

Q.9 Which of the following does the ‘Bold’ formatting option typically do to text in an MS
Word 365, document?

Ans 1. Make the text darker and thicker

2. Make the text larger

3. Change the font style to italics

4. Change the text colour

Question ID : 264330180842
Option 1 ID : 264330709333
Option 2 ID : 264330709332
Option 3 ID : 264330709331
Option 4 ID : 264330709334

Status : Answered
Chosen Option : 1



Q.10 Which of the following internet services is a secure connection over the internet that
allows users to connect to a private network from a remote location?

Ans 1. VoIP

2. Email

3. VPN

4. Web browsing

Question ID : 264330180599
Option 1 ID : 264330708366
Option 2 ID : 264330708363
Option 3 ID : 264330708365
Option 4 ID : 264330708364

Status : Answered
Chosen Option : 3


	[Hindi] DP Constable Exe. 2023pers 44-45 sets by Team qmaths 1
	BBEVad - Copy (2)
	14 Nov 9AM EN [www.qmaths.in]
	14 Nov 12PM EN [www.qmaths.in]
	14 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (7)
	15 Nov 9AM EN [www.qmaths.in]
	15 Nov 12PM EN [www.qmaths.in]
	15 Nov 3 PM EN [www.qmaths.in]
	BBEVad - Copy (9)
	16 Nov 9AM EN [www.qmaths.in]
	16 Nov 12PM EN [www.qmaths.in]
	16 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (12)
	17 Nov 9AM EN [www.qmaths.in]
	17 Nov 12PM EN [www.qmaths.in]
	17 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (3)
	20 Nov 9AM EN [www.qmaths.in]
	20 Nov 12pm EN [www.qmaths.in]
	20 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (6)
	21 Nov 9AM EN [www.qmaths.in]
	21 Nov 12PM EN [www.qmaths.in]
	21 Nov 3PM EN [www.qmaths.in]
	22 Nov 9AM EN [www.qmaths.in]
	BBEVad - Copy (13)
	22 Nov 12PM EN [www.qmaths.in]
	22 Nov 3PM EN [www.qmaths.in]
	23 Nov 9AM EN [www.qmaths.in]
	23 Nov 12PM EN [www.qmaths.in]
	BBEVad - Copy (4)
	23 Nov 3PM EN [www.qmaths.in]
	24 Nov 9AM EN [www.qmaths.in]
	24 Nov 12PM EN [www.qmaths.in]
	24 Nov 3PM EN [www.qmaths.in]
	28 Nov 9AM EN [www.qmaths.in]
	28 Nov 12PM EN [www.qmaths.in]
	28 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (8)
	29 Nov 9AM EN [www.qmaths.in]
	29 Nov 12PM EN [www.qmaths.in]
	29 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (5)
	30 Nov 9AM EN [www.qmaths.in]
	30 Nov 12PM EN [www.qmaths.in]
	30 Nov 3PM EN [www.qmaths.in]
	BBEVad - Copy (10)
	1 Dec 9AM EN [www.qmaths.in]
	1 Dec 12PM EN [www.qmaths.in]
	1 Dec 3PM EN [www.qmaths.in]
	BBEVad - Copy (11)
	2 Dec 9AM EN [www.qmaths.in]
	2 Dec 12PM EN [www.qmaths.in]
	2 Dec 3PM EN [www.qmaths.in]
	BBEVad - Copy (14)
	3 Dec 9AM EN [www.qmaths.in]
	3 Dec 12PM EN [www.qmaths.in]
	3 Dec 3PM EN [www.qmaths.in]
	BBEVad - Copy (15)

